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QUESTION 1

Acute hemolytic transfusion reactions are most commonly due to ABO-incompatible blood being transfused to a
recipient with naturally occurring ABO alloantibodies (anti-A, anti-B, anti A,B). Acute intravascular hemolysis as the
result of a blood transfusion is most often associated with which of the following causes?

A. Transfusion of ABO incompatible red cells

B. Allergies

C. Passively transfused antibodies to HLA antigens

D. Transfusion-associated graft-versus-host disease

Correct Answer: A

QUESTION 2

Provide the equivalent measurement for one pint.
A. 4.2 liters

B. 0.25 liters

C. 0.1 liter

D. 0.474 liters

Correct Answer: D

QUESTION 3

Once substance H is developed, the addition of the sugar N-acetylgalactosamine to the terminal position of the chain
gives the molecule "A" antigenic activity. Which specific terminal sugar causes a red cell to have A antigenic activity?

A. Galactose plus glucose
B. Galactose

C. N-acetylgalactosamine
D. Glucose

Correct Answer: C

QUESTION 4

Name the comprehensive written safety plan detailing the proper use and storage of hazardous chemicals in the
workplace.
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A. chemical hygiene plan
B. OSHA

C. SOP

D. MSDS

Correct Answer: A

QUESTION 5

Either immunofixation or immunoelectrophoresis can be used to confirm Bence-Jones proteinuria.

Which of the following methods would be used to confirm the presence of Bence-Jones protein in the urine:
A. Urine protein electrophoresis

B. Sulfosalicylic acid

C. Isoelectric focusing

D. Immunofixation

Correct Answer: D
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